1. get out your notebook

2. Add Gas stoichiometry to your table of
contents.

3.alsoadd LT 8.3

4. Find the stoichiometry map you drew in
your notebook from the previous unit.
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Learning Target 8.2

| can solve problems involving gases using stoichiometry.

3NewSteps/ Probliws

1) vol Ato Vol B
2) Vol to mass At STP (1 mol =224 L)

3) Vol to mass Using (PV=nRT)
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CHyg) + Ogzq --> CO2(g) + H20(g)
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CHyg) . Oxq) --> (%OZ(Q) +H20(g)
f)VolAto VoIl B '235- L
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12.35 L of O, will produce how many liter of CO,
if P, Vand T are constant? v/ b\(mx L0
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CHyq) ¥/02(g) --> CO2( ) #H20(g)
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2) Vol to mass (STP, 22.4 L =1 mol)
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21.25 g of O will produce how many Ilters of
CO2 at STP.
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3) Vol to Mass (PV =nRT)

If 5 L of nitrogen reacts completely with hydrogen at
pressure ofand temperature 298 K, how much

ammonia (NHs) in grams is produced.
\S\IL,L + QHL ﬂZN CHF

) s6lve for () woles wiins P"‘“"‘"
‘ 3(5)=vo. 011 (19%)

P:?

v2E5 ,3C§> h:OCf&Z’V‘\
— //ﬁ

S:g‘@?u o 292\(27D z

Tt

@W\Q\ ]\ - e 9 ) B CLT 70}

0.1 Nzl W79 W Fs _ ol T
\'w] NZ,}IM\NHS




Calcium carbonate decomposes at high temperatures to
form carbon dioxide and calcium oxide: /s 5. Y e
CaC03(s) --> COy(g) + Cal(s) *Vn, NG

S 3.6 L o e®
How many grams of calcium carbonate will | need to
form 3.45 liters of carbon dioxide at STP? | = 22-“
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